Protective Device

For the distribution system to function satisfactorily, fault on any part of it must be
isolated or disconnected from the rest of the system as quickly as possible; indeed,
If possible, they should be prevented from happing. The principal devices to
accomplish this include fuses, automatic sectionalizes recloses, circuit, breaks, and
lighting or surge arresters. Success, however, depend on their coordination so that
their operations do not conflict with each other. Figure 5-1 indicates where these
devices are connects on the system.

A fuse consist basically of a metallic element that melts when ‘excessive' current
flows through it. The magnitude of the excessive current will vary inversely with
its duration. This time-current characteristic is determined not only by the type of
metal used and its dimension (including its configuration), but also on the type of
its enclosure and holder. The latter not only affect the melting time, but in addition,
affect there are clearing time. The clearing time of the fuse, then , is the sum of the
melting time and the arc clearing time. Refer to figure 5-1 and 5-2 Note that for
curve a; the fuse with the characteristic b is therefore referred to as a 'fast' fuse,
compared with the fuse of curve a.

Fuses are rated in terms of voltage, normal current-carrying ability, and
interruption characteristics usually shown by time-current curves. Each curve
actually represents a band between a minimum and a maximum clearing time for a
particular fuse.

Fuse coordination. The number, rating, and type of the interrupting devices shown
in figure 5-1 depend on the system voltage, normal current maximum fault current,
the sections and equipment connected to them, and other local conditions. The
devices are usually located at branch intersections and at other key point. When
two or more such devices are employed in a circuit, they will be coordinated so
that only the faulted portion will be deenergized.
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